
McCall ,  Math 1030

Math l-030, Exam #2,

Instructions: Show all
possible. Be sure to a
problems and state un in your f inal answer.

L The sum of two
4. Find the two

umbers is 127. Twice
. [You must

error that yield a guess without the a

s/"tl!t #

acted from the larger number is
redit on this problem. Trial and

y-?S-3o=r t5

wi l l ea rn  on l y nt. l  (10 points)

{ \

4r [z )+{  z (b

style that is part and part  cashews. you'd
ew mixture a want to sell it for

smal ler  number
work to earn fu

/'b x' bL
9 tt b. ft*

X t y = - r
Y- ix=

You'd l ike to ma
like to make up
S5.4Olpound. F

X
)

X= e\

Y= o\

A.sx
x+)

a mid-pr iced mixed-n
pounds of the peanut
the amount of peanu and cashews for the mixture. (10 points)
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Use exact answers specif ical ly a to round. Reduce as much as
all  parts of each on. Be sure to d re your variables in word

Ar,Bz 6rre

) = / rLf

Xt (z q)= ln a.+e- ttt 6 86

3Y { = l Z 1
2 . You own a nut pany that sel ls peanut for 54.50/poundd cashews for $6.00/pound,

X= 3o
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3 . Suppose that travell ing down a r iver mi les in  a smal l t ,  i t  takes you 6 hours to make the
journey, but
the speed of

d = 4

b rc

t  travell ing back to your rt ing point on
boat in st i l l  water and t speed of the cu

d_
.{3

C-z

same river i t  takes 15 hours. Find
nt. (10 points)

(Jn vd'fia,-)b,z-F Et"A r

b*c C t^+ t

b+c- 1o= b
fO z*

3 >

alrt- 6"*
l.{ = b + b = ? $ito

4. A gardener has i l  f ie ld she intends to pla
the f ie ld is nine feet more than f ive t
Draw a picture alncl label i t  appropriatelyFind the

? = 2
2n+
2t+

I

L
C

t with flowers. d is rectangular.  The length of
the width. The pe of the field is 199 feet.

of  the f ie ld.  (10 points)

) =
K+g

*)) = {q8

tsrtq)' lg R
F+l t  =  [48

X= tS+f*W
= SCts)tl = #l-
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5 . Graph the sys of inequal i t ies on the ed graphs.
indicate the ion region. (10 points
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to clear ly shade or otherwise

(3x - 2ya '  
|  + x + y

7 2
4

3
(o,o)

21

-Sv >-z
q : 6
7 a  +
a6-3

?-

\  t-2

1_0
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6. State the of the polynomial. Al
b inomia l  or  a l, or none of
a.  -7x3 -  xs

b. xayz + !6

c. (-2)3

d .  5 p 2 + q 2 +

7. Give an exam
explain the di

of an expression that is
? (5 points)

Irol a

# p

r
0- ^

L

8. Simplify the ns and combine l ike
a. (3x2 + Sx -

3r? tSx
6 ) - 2 ( x 3 - 6 x - 9 )  (

l t o -2 *>+ lZ
* Z*) 3v3+ tnx

(7 points) 4$'
LS t

a polynomia laone that is. How would you

state whether
(4 points each)
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I is a monomial, a

X t

K{,

points)

+ l \

L

bl

(o, I

tJx , of"

S) @t t"A tD a" a:L&n-
. )
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c. 3t47562 - + 7) (s points)

lsto ?ts+ zlt-'

d. (3xo - 701

Ib-

+ 7) (5 points)

)t{ X -t lsx -

-3 r  -3s

' (  a b s  \
\ f f i )  (epoi

Lo. n-bs

(5 points)

l "  :

(2x

l s

t

e . -  5)(

x"-.

Er

f.

e-3d {at t{

a'" b

+lb f

r . ' r 7-
e
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h. (r + 5)(r 2)(r - 2) (7 points)
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the zero power is equal to one
(6 points)

Z'" t,.,...^.of aia.

I (n - 2)(n2 2n * 4) (7 points)

G*=:
( * +

n\+

- { )

-- 1r -7fr

t+{n- 
Yrw

-8

that demonstrates whV9. Give an exam

tvt -8

ny number raised

a q o,

( i .e. why is ao = 1). [Hint: use other pro of

z T a g . I

r/pa4f


